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The teacher also said that three scheduling conditions must be met for the trip.
They are as follows:

1. We must leave Ourtown at 9 a.m. or later;
2. We must be back at Ourtown by 5 p.m.;
3. We must stay at the town we visit for at least 3 hours.

Mike and Katy used the bus timetables to find out if they could meet the teacher’s
conditions. They started putting the information in the table below but they did
not complete it.

A. Use the information in the bus timetables on the opposite page to complete
the table below for Acton.

B. Use the information in the bus timetables on the opposite page to complete
the table below for Camford.

Teacher’s
Best Bus Times Conditions
: ‘&i = . —
s = H =
= g | = 1R 3 g - ~
: = S|l o | 8 & = | = S v
S > - lo =z £ 3 = .2 A =™ & D
s vo|2E|E5gsles| T |(08|RE|l 4
o R | EE|8& 8% & & 28 | 2% -2 =
= b1 E 2|0 '_-: S| BB g 2 § | 8= 2
- mO | < | EC| <C| HS | R eS| &
Acton 9:00am | 11:15am
Burley 9:15am | 1220pm | 2:30pm S35pm | 2hr10min | Yes No No
Camford | ¢25am
Darley 9:10am | 11:15am | 2:40pm | 445pm | 3hr25Smin| Yes Yes Yes
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' Code I Response

Item: MO032753B

|

| Correct Response

20 Times correct:  11.40, 2.35, 4.50
Duration: 2h 55m
Yes/No’s: Yes, No, Yes
21 Times correct:  11.40, 3.35, 5.50
Duration: 3h 55m
Yes/No’s: Yes, Yes, No
I Partially Correct Response
10 | Complete set of entries in the table for Camford, some information correct and some incorrect
or inconsistent,
Times Duration Yes/No
: Duration inconsistent with Consistent with times and
Correct Times times noted in table duration noted in table
e TiiRes Duration consistent with Consistent with times and
incorrect times noted in table duration noted in table
. . Inconsistent with times and
Correct Times Correct duration durations noted in table
Example:
Student indicated correct times but calculated the duration incorrectly. Student follows through
with yes/no’s consistent with the correct times and incorrect duration.
| Incorrect Response
70 | Entries provided in table but do not meet the criteria specified in Code 10
79 Other incorrect (including crossed out/erased, stray marks, illegible, or off task)
| Nonresponse
99 Blank
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Acton Bus Timetables

i Bus Timetable
From Ourtown to Acton
Dapart: Arriva:
Qurtown Acton
8:00am 10:15 am
9:00 am 11:15 am
10:00 am 12:15 pm
1100 am 115 pm
12:00 pm 2115 pm
1:00 pm 315 pm
2:00 pm 415 pm
3:00 pm 5:15 pm
4:00 pm 515 pm

Bus Timetable
From Acton to Ourtown

Depart: Arrive:
Acton Qurtown
B30 am 1045 am
9:30am 1145 am
10:30 am 12:45 pm
11:30am 1:45 pm
12:30 pm 2:435 pm
1:30 pm 3:45 pm
2:30 pm 4:45 pm
3:30 pm 5:45 pm
4:30 pm 6:45 pm

Camford Bus Timetables
( Bus Timetable Bus Timetable
From Ourtown to Camford From Camford to Curtown
Depart: Arrive: Depart: Arrive:
Qurtown Camford Camford Qurtown
8:25am 10:40 am 835am 1350 am
9:25am 11:40 am 9:35am 11:50am
10:25 am 12:40 pm 10:35 am 12:50 pm
11:25 am 1:40 pm 11:35am 1:50 pm
12:25 pm 2:40 pm 12:35 pm 2:50 pm
1:25 pm 3:40 pm 1:35 pm 3:50 pm
2:25 pm 4:40 pm 2:35 pm 4:50 pm
3:25 pm 540 pm 335 pm 5:50 pm
4:25 pm 6:40 pm 4:35 pm 6:50 pm

279




(M032753 - C) Jlgmadl 3585 Jlally (13) Jlsaad) a8, -1
lped) i —2
Ayl A3lL e -3

M05_07

¢ AN alad) day ph (38a3 Gl ol

2 aglayl

dasaal) cllay

Lalay i () nd
B s A A4LY e gudi o€ 9 Gkl
daaiall o cllay

Biriiua g Aaaua i (5 Al Gl

Ll

yjalay) 41 sl —4

C. Which towns meet the teacher’s three scheduling conditions?

Answer:
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Code I Response Item: M032753C

|

Correct Response

10 | Indicates Acton and Darley

11 Darley AND other town(s) (not Burley) consistent with answers for A and B
| | Incorrect Response

79 | Incorrect (including crossed out/erased, stray marks, illegible, or off task)
[ I Nonresponse

99 | Blank
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Taking into account the total distance to be traveled, the teacher’s scheduling
conditions, and the cost for the trip, which town can the class visit?

Answer:

Code I Response Item: M032756

| Correct Response

10

Indicates Acton

11

Other town(s) (not Burley) consistent with previous answers

I Incorrect Response

79

Incorrect (including crossed out/erased, stray marks, illegible, or off task)

I Nonresponse

99

Blank
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Roland’s spinner has three sectors of difterent colors, orange, purple, and green.
Roland spins the pointer 1000 times. The chart below shows how many times the
pointer stops on each section.

Color Times Stopped
Orange 510
Purple 243
Green 247

Draw lines on the spinner above to make the three sectors the approximate size
you would expect them to be. Label them orange, purple, and green.

Code I Response | Item: M032688

| Correct Response

10 | Orange sector approximately half the circle, green and purple each approximately one-quarter,
all correctly labeled

| Incorrect Response

70 | Only one labeled sector the correct size

71 Three sectors drawn but none the correct size

72 Three sectors of correct size drawn but no labels

79 | Other incorrect (including crossed out/erased, stray marks, illegible, or off task)

I Nonresponse

99 Blank
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The Be Fit Health Club offers two different payment plans.
Plan A has an initial fee of 400 zeds and a weekly fee of 25 zeds.
Plan B does not have an initial fee but has a weekly fee of 50 zeds.

The figure below compares the cost for Plan A and Plan B.

Be Fit Health Club Payment Plans

1400 Plan

1200
Plan

1000

800

600

400

Total Costin Zeds

200

2 4 6 & 10 12 14 16 18 20 22 24 26
Number of Weeks

A. Label the line that represents the cost for Plan A, and label the line that
represents the cost for Plan B.

Code | Response | Item: M032637A
Correct Response
10 Lines correctly labeled; Plan A at solid line and Plan B at dotted line
I ncorrect Response
70 Lines incorrectly labeled
79 Other incorrect (including crossed out/erased, stray marks, illegible or off task)

l Nonresponse

99

Blank

(M032637A-M07_13A)
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B. At which week would you have paid the same amount for Plan A and
Plan B?

Code | Response Item: M032637B
[ I Correct Response
10 |16

‘ I Incorrect Response

79 | Incorrect (including crossed out/erased, stray marks, illegible or off task).

I Nonresponse
99 | Blank

(M032637B-M07_13B)
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C. At 24 weeks, what is the difference in total cost between the two plans?

Note: 1200-1000 is coded as 10.

| Code ‘ Response [ Item: M032637C
l Correct Response
10 200 zeds (with or without units)

| Incorrect Response
70 1200 zeds , 1000 zeds, or 1200 and 1000

79 | Other incorrect (including crossed out/erased, stray marks, illegible or off task).

| Nonresponse
99 | Blank
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